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QUESTION 1

Table TAB_A resides within table space TBSP_1.

Given the following LOAD corrmand:

LOAD FROM del_file OF DEL
INSERT INTD tabh_ g3
COPY MO
MDEXING MODE INCREMENTAL
ALLOW READ ACCESE

Which statement is correct?

A. Using the COPY NO option means the data in any table within table space TBSP_1 cannot be updated or deleted
until either a table spacebackup of TBSP_1 or a full database backup is completed.

B. Using the ALLOW READ ACCESS option along with INCREMENTAL indexing mode means that the newly inserted
data can be accessedbecause of the new CURRENTLY COMMITTED semantics.

C. Using the COPY NO and ALLOW READ ACCESS options means that the existing table data is only readable until
the index build phase begins,since no copy of the existing data is made during the LOAD.

D. Using the INSERT INTO and the INCREMENTAL indexing mode allows DB2 to increase the concurrency of table
access during the LOADoperation because LOAD will always append the inserted data to the end of the table and the
new index pages are also added to the end ofthe existing index when using INCREMENTAL indexing mode.

Correct Answer: A

QUESTION 2
Which statement about BEFORE triggers is FALSE?
A. A BEFORE trigger\\'s action is executed for each row in the set of affected rows before the trigger event executes.

B. A BEFORE trigger\\'s action is executed for each row in the set of affected rows instead of executing the trigger
event.

C. A BEFORE trigger is used to perform validation of input data and to automatically generate values for newly inserted
rows.

D. A BEFORE trigger cannot be used to modify data in a database because they are activated before the trigger event
is applied to the database.

Correct Answer: B

QUESTION 3

Due to a hardware failure, it appears that there may be some corruption in database DB_1 as DB2 is reporting a "bad
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page". DB2DART is performed for the entire database and it appears that several bad pages were detected in table
space TBSP_1. What command can be used to recover the database and repair the corruption in table space
TBSP_17?

A. RESTART DATABASE

B. RECOVER DATABASE

C. RESTORE TABLESPACE

D. ROLLFORWARD DATABASE

Correct Answer: B

QUESTION 4

What are two types of DB2 Discovery requests that a client can make? (Choose two.)
A. KNOWN

B. SEARCH

C. LOOKUP

D. TRUSTED

E. UNTRUSTED

Correct Answer:. AB

QUESTION 5
Which type of table space can be associated with only one storage group?
A. Automatic storage space (AS)

B. System managed space (SMS)

C. Database managed space (DMS) File

D. Database managed space (DMS) Device

Correct Answer: A

QUESTION 6
Which statement regarding compression for temporary tables is true?
A. Temporary tables can only be compressed using adaptive compression.

B. Temporary tables can only be compressed using classic row compression.
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C. Compression for temporary tables can be dynamically enabled and disabled.

D. The DB2 optimizer automatically decides to use classic row compression or adaptive compression for temporary
tables.

Correct Answer: B

QUESTION 7

When the ALTER TABLE DETACH operation is used to detach a single data partition from a partitioned table, at what
point does the newly detached data partition become accessible as a standalone table?

A. After a SET INTEGRITY statement is executed.

B. After a truncate table operation is performed in the background.

C. Immediately after the ALTER TABLE DETACH statement is executed.

D. Immediately after asynchronous partition detach processing completes for this data partition.

Correct Answer: D

QUESTION 8

Which statement about the db2pd tool is true?

A. It may retrieve data that is not completely accurate.

B. It collects information from the log buffer and active log files.

C. It ensures that information is not retrieved on changing data.

D. It collects information from the snapshot monitor and a predefined set of event monitors.

Correct Answer: A

QUESTION 9
Which statement about the ADMIN_MOVE_TABLE procedure is true?

A. The ADMIN_MOVE_TABLE procedure immediately applies all changes that occur to data in the active (source) table
during the move operationto the target table.

B. The ADMIN_MOVE_TABLE procedure stores all changes that occur to data in the active (source) table during the
move to a user-suppliedstaging table so they can be replayed against the target table when the move is complete.

C. If the ADMIN_MOVE_TABLE procedure is used to move data in an active (source) table to a target table that was
created beforehand, thetarget table is renamed (to the source table name) once the data has been copied into the target
table.

D. If the ADMIN_MOVE_TABLE procedure is invoked with the KEEP option specified, the active (source) table will be
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kept and if the target table isto be created automatically, a name that is different from that of the active table must be
specified for the target table.

Correct Answer: C

QUESTION 10

If the current value for self-tuning memory is: Self Tuning Memory (SELF_TUNING_MEM) = ON (Inactive) Which
statement is true?

A. Self-tuning is occurring only on the instance memory area.

B. The memory tuner is actively tuning the memory on the system.

C. Self-tuning is not occurring because it is waiting for the database to be recycled.

D. Self-tuning is not occurring because there are less than two memory consumers enabled.

Correct Answer: D

QUESTION 11

What authority is required to grant a user ACCESSCTRL authority?
A. DBADM

B. SQLADM

C. SECADM

D. DATAACCESS

Correct Answer: C

QUESTION 12

By analyzing EXPLAIN data, you notice that a table scan is being performed instead of an index scan even though an
index exists. In order to utilize the existing index, what should be done before issuing the RUNSTATS command to
collect statistics for both the index and table?

A. Drop and reload the table.

B. Drop and recreate the index.

C. Reorganize the table to cluster its data according to that index.

D. Reorganize the table to cluster its index according to that query plan.

Correct Answer: C
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QUESTION 13

Which statement is correct when describing Range Clustered Tables (RCT) as compared to regular base tables that use
at least one index?

A. RCTs require less logging, less buffer pool space, and less maintenance.
B. RCTs require more logging, less buffer pool space, and more maintenance.
C. RCTs require less logging, more buffer pool space, and less maintenance.
D. RCTs require more logging, more buffer pool space, and less maintenance.

Correct Answer: A

QUESTION 14

If the following statement is executed: REORGCHK UPDATE STATISTICS ON TABLE ALL What will happen?
A. RUNSTATS will be executed on all user tables and a REORGCHK report will be generated.

B. RUNSTATS will be executed on all user and system tables and a REORGCHK report will be generated.

C. RUNSTATS will be executed on all user tables only if statistics have not been collected and a REORGCHK report will
be generated.

D. RUNSTATS will be executed on all system tables only if statistics have not been collected and a REORGCHK report
will be generated.

Correct Answer: B

QUESTION 15

What is an informational constraint?

A. A constraint that defines a relationship to a federated object.

B. A constraint that is used by the optimizer but is not enforced.

C. A constraint that provides Information to the RUNSTATS utility.

D. A constraint that is created from information supplied to the design advisor.

Correct Answer: B
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